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1.7HH+29 2
Y, = a+ pX; +yGender; + SHigh;+mCollege;+ u;

-==0|5t : High=0, College=0
-= : High=1, College=0
- =0| 4 - High=0, College=1

S
Y= a+ BX +u;
T Yi=(at+y)+ BX
T Yi=(a+8)+[3Xi+ui
Y, =(a+y+96)+ Xty

0
0
2
0
0
1
2
1
0
2
1
1
1
1
1
1
1
1
1
2
2
1
1
2
0
1
0
0
3
1

. 5500002
. 6500002
6872395
. 7749998
. BOOCQOGO0
. 6576906
. 3999993
4000003
. 5700002
. 3950005
LA1737802
.1999999
1245044
. 2599996
. 2249995
. 5000005
. 3499998
. 7355553
. 8799994
4620010
.1399992
. 2400001
9141898
.0139993
. 6599999
1616698
. 8000000
. 2200000
. 0319999
42899493
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1.7/ =2 2(b2-ch4-2.R)
(download from http://kanggc.iptime.org/em/em.html)

library(stargazer)

data<-read.table("http://kanggc.iptime.org/book/data/income.txt", header=T)
age<—data$age

ed<- data$ed

gender<-data$gender

income<-data$income

age;ed;gender;income

high<-ifelse(data$ed==3, 1, 0)
college<-ifelse(data$ed>3, 1, 0)

(cbind(ed,high,college))

m1.Im<-Im(income~age+gender+high+college)

summary(m1.im)

stargazer(mi.lm, type="text", title="Regression Results of using Dummy Variable")

Of X} =Xt

o | I

o

-1.363(reference) (-1.363+0.658)=-0.705

u

(-1,363+0.389) (-0.705+0.389)

o
0%

m
-

of
WA | o | B | 4

(-1,363+0.982) (-0.705+0.982)

Regression Results of using bummy variable

Dependent variable:

0505285 %
(0.014)

0.658%%*
(0.209)

high 0.389
(0.239)
college 0.982%**
(0.241)

constant -1.363%%

observations

R2 0.409
Adjusted R2 0.379
Residual std. Error 0.646 (df = 80)

F Statistic 13.820%** (df = 4; 80)

Note: *p<0.1; **p<0.05; ***p<0.01




